FDOLE

Alcohol Testing Program

Date In_>/77 L7

Agency ‘L M.((o:: CQ)

INSTRUMENT PROCESSING SHEET

RECEIVED

(
Date Out 3[&'1 l 11

A

Ship UP/U QH/D Ocmi_ OEE
FDLE

i

Intake Performec(Bﬂ'S/ Quality Checks Performed By g@g Flow Calibration Perfékiaedie) Testing W’rogram
Q Registration 8 Breath Tube Screen Flow Calibration N/A
&L Annual \EI Replace O-Rings O Flow Calibration Complete
O Return from CMI \El Instrument Set Up Verified Flow Column #
Q Return from Enforcement "B R-value w, O SU/min=17mm
Electronics Flow Verification (L/s) O 151/min-53mm
Q other Flow Column #_ATP 102 Q 30L/min - 103mm
Visual Inspection: 32mm _{), MY (139 - 169) | O R-Value
Qf(‘ Case Qﬁ_ Handle 36mm .60 (.156-.190) | O Post Calibration Verification (L/s)
Dlz_Dry GasHolder _/Y( Feet 53mm 0.230 (.228-.278) Flow Column #
_Als Keyboard/Plug p_l«zgack/p]ugs 103mm 0.49(, (.447 - .547) 32mm (.139 - .169)
_(JnScrews tight ©K_greath Hose \El Barometric Pressure Check 36mm (.156 -.190)
] Gauge ID#_ 2 K431 53mm (228 - .278)
Other Equipment: "8 Stability Checks 103mm (.447 - .547)
O Power cord Simulfator | Serial # Lot #/Exp
QO Printer Cable 0.05 Ca 3709 201003D Maintenance Performed By
Q Other 2glit Q Battery Replacement
0.08 201LDIF QO Dry Gas Regulator Replacement
DRI12719 {26 )j2 || @ Breath Tube Replacement
Notes: 0.20 201 J _Other
' DR.3¥5k 3|;0’ :‘ac’ Suggested Service
0.08DGS | N/A A Cr 20060
Az22(1%
‘Optical Bench Calibration Performed By m Department Inspection Performed By _m
O Optical Bench Calibration N/A Barometric Pressure | VYAT) Gauge
Optical Bench Calibration Complete ID# _X 8427 1D 5 Instrument
Barometric Pressure Gauge |O171 D # 28421
Simulator | Serial Number | Lot Number Expiration Mouth Alcohol Solution Lot #
0.000 S Ql N/A N/A Acetone Stock Solution Lot #
0.040 Spioay 15103 %] g J 17 zigx;lator Seriaalurél;er
, i a
il Sbibaa 1500 S20) 17 interferent Qi?gi;
0.200 DR33S5 | 15104 [Sl2a|1m 0.05 C
: N3709
0.400 G2407 | 1102 3l22 /% 0.08 YIRS T
0.080 DGS | N/A 15150802 | The[iq 020 DR3IZS
@ Post Calibration Stability Checks s
Simulator Serial Number | Lot Number | Expiration Attachments ‘
0.05 G3709 [2003D |3/g/[I8 Form 41 ®  Optical Bench Cal
0.08 DRI279 2D0IlD) F i ]2(0/ (8 h Pre-Stability Tests Post-Stability Tests
0.20 DR3RS(g |20/6D4C | H]a(1 Q Flow Calibration O Other
0.08 DGS N/A
Notes: Qeﬁm\wd opticad bench coh brodise, h Instrument Complies with Chapter 11D-8, FAC
ent valu Ny * O instrument Does Not Comply with Chapter 11D-8, FAC
B Return to/Place into Evidentiary Use '
2 Remain Out of Evidentiary Use -
® Conductan Agency Inspection Before Evidentiarv Use
B\ o £ ~ . :
W) A e 7T 372777
KEvemahty Conttol Review Déte

Revised November 2012
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